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KB fiti ¢ D K E IR A
(1] Z&)IEKYs
(2) BUEZE R O A

@ JFUk
£ 7K A A H H28.4.4 | H28.5.9 @ H28.6.6 | H28.7.4  H28.8.1
X fip 5] = = 5 i
X i (©) 17.7 19.9 20.5 29.6 28.2
7K i (©) 12.6 17.0 18.3 26.2 25.0
— ire A (fi /mL) 920 2,100 4, 400 5, 600 6, 800
X i) (MPN/100mL) 94 73 150 120 150
H KI T AkEOFoONEY (mg/L) — <0. 0003 — — <0. 0003
K B K O O b A B (mg/L) —  <0.00005 — — | <0.00005
L v Kk N E DI AW (mg/L) — <0. 001 — — <0. 001
m Kk ™ F o v A B (mg/L) — <0. 001 — — <0. 001
E # K O F O &b AW (mg/L) — <0. 001 — — <0. 001
72 = S N S S/ (mg/L) — <0. 005 — — <0. 005
il it fik e B = (mg/L) 0.010 0. 008 0. 007 0. 005 0. 005
T Mk A A KR OEbS T v (mg/L) — <0. 001 — — <0. 001
MR EEELCHMBREER (mg/L) 1.2 0.97 0.75 0. 65 0.70
7 v F LK N E 0 b A W (mg/L) 0. 08 <0. 08 <0. 08 0.08 <0. 08
r v F KR O F 0 AW (mg/L) — 0.01 — — 0. 02
Iy ¥ 1t Jra % (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
1, 4~ A 7 e Va N (mg/L) — <0. 001 — — <0. 001
CA-1,2-YZ7auaxTF LN
KNS A-1,2-V 7= F L (mg/L)| <0.0002  <0.0002| <0.0001  <0.0002  <0.0002
Y = =S 2 (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
F N % 7 v omr =T F L v (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
kY y m onmn o x F oL o (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
~ N + N (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
i % i (mg/L) - - — — —
7 = = 3 i (mg/L) — — — — —
7 o o iR L N (mg/L) — — — — —
v 7 & =i L3 i (mg/L) - - — — —
Y 7 v E 7 v ou A K v (mg/L) — — — — —
R # i (mg/L) — — - — —
WO U N m X H v (mg/L) — — — — —
~ J 7 = =S (3 (mg/L) — — — - —
7 m Y s owom A K (mg/L) — — - - -
=7 o S N % N (mg/L) — — — — —
A v A 7T L T ot N (mg/L) — — — — —
o & O o b & W (mg/L) — <0. 005 — <0. 005
TAI=TLAKEREDOEW (mg/L) 0.06 0.14 0.22 0.15
% Kk O o { A W (mg/L) 0. 08 0.15 0.27 0. 20
T O N (- (mg/L) — 0. 01 — 0. 01
F MU U AR DRNEODOIRLEWY (mg/L) — 6.6 — — 7.0
~ v H v kR RNE O E D (mg/L) 0.012 0.017 0.018 0. 020 0. 020
iy 1k WY A % N (mg/L) 5.8 4.6 4.3 4.3 4.5
TN TN, SR N (G E) (mg/L) 64 60 60 63 64
i 7% 53 2 S (mg/L) — 113 — — 122
B 4 4 v /B om E O A (mg/L) — <0. 01 — — <0. 01
v - b s 3 N (mg/L)| 0.000002 = 0.000001 @ 0.000002 @ 0.000002 | 0.000003
2- A F L A4 VRV R F — (mg/L)| 0.000001 = 0.000002 @ 0.000002 = 0.000003 | 0.000003
¥ 4 4 o K o\ E M A (mg/L) — <0. 005 — — <0. 005
7 - ) — I $A (mg/L) — | <0.0005 — — | <0.0005
HHY (2 F KR E (T0C) O & (mg/L) 0.7 0.7 1.0 0.9 0.8
p H il 7.9 7.8 7.7 7.7 7.9
% — _ — — _
R = ! ! ! R R
4, & () 1.8 1.9 3.1 3.2 2.5
& E (%) 2.7 3.5 4.6 3.6 2.8
% ® % F (mg/L) — — — — —
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H28.9.5 | H28.10.3  H28.11.7 @ H28.12.5 | H29.1.10 H29.2.6 H29.3.7 TN /N MLy
i 5] £ I I I} = -
28.1 23.4 11.2 11.3 3.0 6.6 6.0 29.6 3.0 17.1
21.9 19.1 13.9 13.0 8.3 8.3 8.4 26.2 8.3 16.0
4, 000 1, 800 840 460 930 360 560 6, 800 360 2,400
160 130 26 65 290 72 110 290 26 120
— — <0. 0003 — — <0. 0003 — <0. 0003 <0. 0003 <0. 0003
— — | <0. 00005 — — | <0.00005 —| <0.00005| <0.00005 <0.00005
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
0. 005 <0. 004 0.004 0. 005 0. 007 0. 007 0. 007 0.010 <0. 004 0. 006
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
0.99 1.2 1.3 1.3 1.2 1.2 0.97 1.3 0. 65 1.0
<0. 08 <0. 08 0. 08 <0. 08 <0. 08 0. 08 <0. 08 0. 08 <0. 08 <0. 08
- 0.02 0.02 — 0.02 0.01 0.02
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
<0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
0.23 0.14 0. 08 0.07 0.07 0. 05 0.33 0.33 0. 05 0.14
0. 28 0.18 0.10 0.11 0.10 0. 06 0.31 0.31 0. 06 0.17
— — <0.01 — — <0.01 — <0.01 <0.01 <0.01
— — 7.4 — — 7.6 — 7.6 6.6 7.2
0.015 0.010 0.008 0.010 0.012 0.011 0.023 0.023 0. 008 0.015
3.1 3.3 4.8 5.2 5.2 5.5 5.2 5.8 3.1 4.7
53 53 68 72 65 68 62 72 53 63
— — 121 — — 120 — 122 113 119
— — <0.01 — — <0.01 — <0.01 <0.01 <0.01
0.000002 | 0.000001 | 0.000002 | 0.000002 | 0.000002 | 0.000002 | 0.000002 | 0.000003 0. 000001 0.000002
<0. 000001 <0.000001| <0.000001 <0.000001| 0.000001 | 0.000001 | 0.000001 | 0.000003 | <0.000001 0.000001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
<0. 0005 — <0. 0005 — <0. 0005 <0. 0005 <0. 0005
0.9 0.7 0.9 0.8 1.0 1.2 1.2 1.2 0.7 0.9
7.7 7.7 7.9 7.8 7.8 7.9 7.8 7.9 7.7 7.8
B B B B B B B - WR
3.9 2.0 1.2 1.4 2.2 1.4 1.7 3.9 1.2 2.2
6.0 2.9 2.0 1.5 2.4 2.3 6.4 6.4 1.5 3.4
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2 KBS OKEMRAE
(1) KRG
(2) HALS M OHIE R A

@ JFUk
£ 7K e A H H28.4.4 | H28.5.9 @ H28.6.6 | H28.7.4  H28.8.1
T FELUEONE O S W (mg/L) — | <0.0003 — — | <0.0003
7 7 v kO EF 0L A W (mg/L) — <0.0002 — — <0.0002
= v L kO O E W (mg/L) — <0. 001 — — <0. 001
L,2- ¥ 7 v n©n = X (mg/L) — | <0.0001 — — | <0.0001
~ I - N (mg/L) — | <0.0001 — — | <0.0001
TREALEEY (2-T F~F L) (mg/L) — <0.001 — — <0.001
i H ES i (mg/L) — — - — —
Y /7 mnm 7 k& b= F1U (mg/L) — — — — —
Bk 7 n 7 = ) (mg/L) — — — — —
3 4K ] — <0. 001 — — 0.012
E HifE fR fie (mg/L) — 1.2 — — 0.9
,1,I- U 7 v om x X (mg/L) — <0. 0001 — — <0. 0001
A F )b -t- 7 F )L = — 5 jL (MTBE) (mg/L) — | <0.0001 — — | <0.0001
B OS5 8 K (T O N ) 3 3 3 3 3
BaEYE (5 v A Y T i K) — -0.8 — — -0.5
e & 5 # i (f#/mL)| 95,000 | 140,000 250,000 130,000 & 130, 000
L1I- ¥ 7 @ g x F L v (mg/L) — | <0.0001 — — | <0.0001
B A ks A il B (MPN/100mL) — 63 — 50
A b B R E K& (mg/L) 1.0 1.0 0.7 0.8 0.6
S pea 73 # (mg/L) 9.8 8.7 9.8 7.1 7.3
7 - I D = [ (MPN/L) 460 830 680 450 760
i = [k R i) [ (MPN/L) 22,000 60,000 | 140, 000 62,000 160, 000
x 5 ¥  (MPN/100mL) 2,700 3,900 6, 500 5, 200 6, 500
# oM@ Mk @ gH Bk B (MPN/100mL) 42 180 370 300 800
7 v E = T B %= # (mg/L) 0.02 0. 02 0.03 0. 02 0. 02
il % o 4 A (mg/L) — 16 — — 17
~ 7 > g v A (mg/L) — 4.7 — — 5.0
it fi& 4 7 N (mg/L) 16 14 11 13 14
AN - - A A - (mg/L) — 0.017 — — 0. 026
b 7 L bl ) & (mg/L) 52 53 51 56 57
& = 15 i R (mS/m) 16.3 14.9 14.6 15.6 16.0
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H28.9.5 | H28.10.3  H28.11.7  H28.12.5 | H29.1.10 H29.2.6 H29.3.7 TN /N MLy
— — <0. 0003 — — <0. 0003 — <0. 0003 <0. 0003 <0. 0003
— — <0. 0002 — — <0. 0002 — <0. 0002 <0. 0002 <0. 0002
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 001 — — <0. 001 — 0.012 <0. 001 0.003
— — 0.9 — — 1.0 — 1.2 0.9 1.0
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
3 3 3 3 3 3 3 3 3 3
— — -0.7 — — —0.8 — -0.5 —0.8 -0.7
61, 000 40, 000 70, 000 62, 000 63, 000 62, 000 93, 000 250, 000 40, 000 100, 000
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
— — 8 — — 33 — 63 8 39
0.5 0.4 0.8 0.9 0.9 1.3 1.2 1.3 0.4 0.8
8.7 8.9 9.5 9.6 10 10 10 10 7.1 9.1
240 310 180 450 780 450 750 830 180 530
77,000 25, 000 28, 000 24, 000 41, 000 24, 000 80, 000 160, 000 22,000 62, 000
16, 000 8, 200 2,400 3, 100 6, 600 1,100 1, 600 16, 000 1,100 5, 300
610 720 87 110 110 27 130 800 27 290
<0.02 <0.02 <0.02 <0.02 <0.02 <0.02 0.03 0.03 <0.02 <0.02
— — 18 — — 18 — 18 16 17
— — 5.6 — — 5.6 — 5.6 4.7 5.2
12 13 15 16 16 15 13 16 11 14
— — 0.018 — — 0.019 — 0. 026 0.017 0. 020
45 47 58 56 51 56 54 58 45 53
13.1 13.8 16. 9 17.2 16. 0 16. 9 15.5 17.2 13.1 15. 6
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2 JKIERER D KE R
(1) %Ik
(2) PR OV R A
@O JFK

£ 7K s A H H28.5.9 | H28.8.1 H28.11.7  H29.2.6 L ON e/ DA
L3-Y e m7° na’ v DD (mg/L)| <0.0002 <0.0002| <0.0002 <0.0002| <0.0002 <0.0002  <0.0002
2,2-DPA( % 5 &R v ) (mg/L)| <0.0002 <0.0002 <0.0002| <0.0002[ <0.0002 <0.0002  <0.0002
2,4-D (2, 4-PA) (mg/L)| <0.0001| 0.0001 | <0.0001 <0.0001| 0.0001 | <0.0001| <0.0001
EPN (mg/L)| <0.00001| <0.00001 <0.00001| <0.00001| <0.00001 <0.00001| <0.00001
MCPA (mg/L) | <0.00005 <0.00005/ <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 o e 2 (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 + 4 - — F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 k 7 v > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = = Rz A (mg/L)| <€0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001| <0.00001
7 N 5 5 A (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
7 7 Vi = — Jb (mg/L)|[ <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 YV X ¥ F I v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
A4 Y 7 = v 3 A (mg/L)| €0.00001] <0.00001 <0.00001] <0.00001| <0.00001 <0.00001| <0.00001
A4 Y 7 v FH A 7 MIPC) (mg/L)| <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
A4 J 7 v F F T » (IPT) (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001f <0.0001 <0.0001| <0.0001
4 7 m N &/ A (IBP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
A4 v ¥ ) 7 7 v (mg/L)] €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
= 2 F v N 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
T N7 = v F v vy 7 A (ng/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
T RYPTY— (= m AV —)L) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001| <0.00001
T RALT 7 (R V) (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
4 F ¥ Yy v X R v (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
F X ¥ v 8 (F B 8 ) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
4 U ¥ %2 F v ¥ v (mg/L)] <0.0001] <0.0001 <0.0001] <0.0001f <0.0001 <0.0001| <0.0001
b z VA Z) 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
B 7 = v A F v — j (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
B X U b (NAC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
v 7 w8 T R (mg/L)| <0.0001 <0.0001 <0.0001] <0.0001| <0.0001 <0.0001| <0.0001
b JL A 4 5 v (mg/L)| <0.00005/ <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ /) 7 5 2 v (AON) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
* ¥ v v v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 3 I = v (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7w A 7 o v 7 (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
s v b = kv 7 = ¥ (CNP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 w o B U & A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
s/ @m v X v = L (TPN) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
v 7 s D > (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
3 7 7 A& A (CYAP) (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
Y v = v (DCMU)  (mg/L)| <0.0001 <0.0001] <0.0001  <0.0001] <0.0001 <0.0001 <0.0001
Y s m N = L (OBN) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 wm A AR & (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
VALK (= FALF A A RY) (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A * v JL (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
oo v R vy 7 F b (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
D ~ v NG (CAT) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
oA &R F U v (mg/L)| <0.0001] <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
v A b - — k (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001| <0.0001| <0.0001
> A b~ ) v~ (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y A ¥~ L — (mg/L)]| <0.00001] <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
Z A 7 v J > (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A UN = > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
- 7 P = Jb (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 v 2 (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
A %+ X Y I 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
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KB Ji 53¢ D K E R A

(1] &)1 K

(2) B K OHIFRA

@O JFK

£ 7K s A H H28.5.9 | H28.8.1 H28.11.7  H29.2.6 L ON &/ DA

F F 7 7 F — F A F )L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
F F X F o 7 (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
F O 7 H 7 (MBPMC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
S ] V4 = v L (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
F U 7 w s » (DEP) (mg/L)[ <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
YU ¥ 7 5 Y — U (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
U 7 v 5 U (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
+ 7 = " 2 F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
=4 ~ = Rz A (mg/L)| <€0.00001] <0.00001 <0.00001 <0.00001| <0.00001 <0.00001| <0.00001
5 Y X v 7 = v (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
I3V U x—Fr(EFY L—F) (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
v U ¥ 7 = v F F v (mg/L)| €0.00001 <0.00001| <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
v U 7 F H o F (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001f <0.0001 <0.0001| <0.0001
= = * = v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001 <0.0001
7 4 7 = = /L (mg/L) [€0. 000005 <0. 000005 <0. 000005 <0. 000005]<0. 000005 <0. 000005 <0. 000005
7 = = b o F F v (MEP) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 = /) 7 H ) 7 (BPMO) (mg/L)| <0.0001 0.0001 = <0.0001| <0.0001f 0.0001 | <0.0001| <0.0001
7 = v F F v (PP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
7 = v Fk = — F (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v b 7 ¥ I F (mg/L)] <0.0001] <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
7 Va Z A F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
7 vl v = — L (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 v 2 2D A (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001 <0.0001 <0.0001| <0.0001
7 7 w7 = ¥ v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
7 N 7 P 7 2 (mg/L)|  <0.0001] <0.0001 <0.0001| <0.0001f <0.0001 <0.0001| <0.0001
7 v F 5 7 v — Jb (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = D 2 K > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = A % Rz 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
7 v ¥ 3 F Y — JL (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = = VA N F (mg/L)[ <0.0001 <0.0001] <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 v N F Y — L (mg/L)| <€0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 = £ 7 ¥ R (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001| <0.0001| <0.0001
~ J 3 Jb (mg/L)| <€0.0002  <0.0002) <0.0002 <0.0002| <0.0002 <0.0002  <0.0002
~ N D Vi = v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N v Vv Y 7 oom v (mg/L)] <0.0001  <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
N v Y 7 = F w7 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
~ N vl v > (mg/L)| <0.0001] 0.0010 | <0.0001 <0.0001| 0.0010 | <0.0001 0.0003
~ v F 4 A& U v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001f <0.0001| <0.0001 <0.0001
X v 7 Z  H T (mg/L)]| <€0.0001] <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
Ry TZNANFT Y v (RZ2aPr) (mg/L)] <€0.0001 <0.0001  <0.0001  <0.0001| <0.0001] <0.0001  <0.0001
N v 7 L & — b (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
A A2 F 7 ¥ — bk (mg/L)| €0.00001 <0.00001| <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
~ 7 F F v (= 5 YV v ) (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
A @ wm v 7 (MCPP) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A v 3 JL (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
A vl 7 * b (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
A F K F A4 v (OMIP) (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A F L F 4 xn m v (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A T J Z F v E v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A b i 7 Y v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 7 = F & v b+ (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 7 = = Jb (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
E ) B — I (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
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EPN 7+ e v > (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 YV XY FF o F F Y v (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
A4 Y 7 = v AR A F F Y v (ng/L)]<0.000005 <0.000005 <0. 000005 <0. 000005[<0. 000005 <0. 000005 <0. 000005
T v K 2 2 7 = — |k (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
CNP- 7 3 J & (mg/L) [<0. 000001 <0. 000001 <0. 000001 <0. 000001]<0. 000001 <0. 000001 |<0. 000001
7 v b v U R X F F Y (mg/L)]| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
2 A T Y v F F YV v (ng/L)| <0.00001 <0.00001 <0.00001 <0.00001]| <0.00001 <0.00001] <0.00001
7 = v F FrFF Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP R L R X ¥ F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 JL & v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
MPP % x VY > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP F &% ¥V » 2 L& % 2 F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP #F F% Y v Z v 3k v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 2 I &K A A F YV v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
7 v € 7 F FF 7 v F (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
~ I F F v F X v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 kv x I 7 U F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
4 2 % 7 v 7 U F (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
F 7 a  F Y — L (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
=4 7 7 = Rz A (mg/L)| <0.0001] <0.0001 <0.0001] <0.0001| <0.0001 <0.0001| <0.0001
7 gL %2 L 7 7 I F (mg/L)]| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
7 = - D2 Jb (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
~ v b F B Y » (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001f <0.0001| <0.0001 <0.0001
gz B = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
A 5z m — b (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
T YN Y T L -8- A F L (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
7 A ~ ) v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A4  F X v 7 4 K (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
4 ~ Y 2 A 7 m v (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 = =@ F Y — P (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
= F ¥ ¥ X2 ) 7 v v (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
= F X H = F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
F ¥ ¥ Y 7 L X L (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
%+ ¥ Va N Jb (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
* ¥ v Kx v F = F o (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7w F 7 = ¥ v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 wm = 7 = 7 ¥ F (mg/L)| <£0.0001] <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
7 v L B — )L P A F )L (TCTP) (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
7 v Jb F U AR A A F Jb (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
Y s w7 = v F F v (ECP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
Vi =t A v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y s w7 v v 7 (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
) A v 7 v v (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
v J va 7 5 > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 = J a F v — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 g X v X m v (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7w a3 F Y — b (mg/L)| <0.0001] <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
D - = v = JL (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y A a F Y — b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
Y A F v v A& Z (mg/L)| <0.0001| <0.0001] <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ 5 7 v F 7 = v (mg/L)]| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
D v A F ) > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F 7 7 wa  F F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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2

KB Ji 53¢ D K E R A

(1] &)1 K

(2) B K OHIFRA

@O JFK

£ 7K s A H H28.5.9 | H28.8.1 H28.11.7  H29.2.6 L ON &/ DA

F T A FF % A (mg/L)| <0.0001] <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ 4 AW 2 F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
F ~hJ 7 o) bk X (CWP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
F F 5 @3 F ¥V — L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
F 7 7 = 7 ¥ F (mg/L)] <0.0001] <0.0001 <0.0001] <0.0001f <0.0001 <0.0001| <0.0001
U X %W Ry 7 F o (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
U 7 o I Y — 5 (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
> 7 v 7 = F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
= 7 N =4 Z 2 (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001 <0.0001 <0.0001| <0.0001
Ny w7 k5 Y — U (mg/L)| <0.0001 <0.0001 <0.0001] <0.0001f <0.0001 <0.0001] <0.0001
=4 A k = D% > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
5 Y AN 7w v F o (mg/L)| <0.0001  <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
vy I Ny 7 A F )L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
¥ U X Ak R A F L (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 7 A b = )b (mg/L)| <€0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 o 7 ¥ R v 7 (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 v % = L (DCPA) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 = A ) 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
7 v X v ¥ v |k (BPPS) (mg/L)| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
7 v AR F A )L (PHO) (mg/L)[ <0.0001 <0.0001] <0.0001 <0.0001] <0.0001] <0.0001  <0.0001
7 = A ~ ) > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N v X A A& v 7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
Rz * P4 2 (mg/L)| <€0.00001] <0.00001 <0.00001 <0.00001| <0.00001 <0.00001| <0.00001
Z 2 71 ) F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
£ /) 7 w bk & A (mg/L)] <€0.00001 <0.00001 <0.00001 <0.00001f <0.00001 <0.00001] <0.00001
)} = o = v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 Y % ¥ 2 h m v v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
A -7 = D 7 v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Vi = = ES 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
D 7 a = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
5 = N 7 v — L (mg/L)| <0.0001] <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
v 7 v AR A A F b (mg/L)| <€0.0001  <0.0001 <0.0001] <0.0001] <0.0001 <0.0001 <0.0001
Nm R L 7 m v A F b (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
v 7 = J v 7 A (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001| <0.0001  <0.0001
U 7 m % ¥ 7 = v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
7 7 ¥ 2 7 v v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 JL b 5 = Jb (mg/L)| <0.0001|  0.0003| <0.0001 <0.0001| 0.0003 | <0.0001 <0.0001
~ R ) K (SAP) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
N v A2 7 m v A F )b (mg/L)] <€0.0001]  <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
) + ¥ JV (mg/L)| <0.0002] <0.0002] <0.0002 <0.0002| <0.0002 <0.0002  <0.0002
FLZ @R ZAAFNLAF Y (ng/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
F X ¥ ¥ 7 Y v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
s o A b X ¥ = Jb (mg/L)] <0.0001] <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
U ZaEL-2-7 FFTxF L (ng/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
= b+ ®wm 7 = v (NIP) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
7 =t a v > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
- 4 b F U % — b (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
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2 KiESER DO KERA
(1) Z)IHKS
(2) BT K O E A

@ % 2 Hrk G UEBOK (B ILIECR)

£ 7K A A H H28.4.4 = H28.5.9 H28.6.6  H28.7.4  H28.8.1

PN 6= i & & i i}

& A (T 17.7 19.9 20.5 29.6 28.2

7K i (©) 12.9 18.8 19.8 26.3 25.8

— 5 A ({8 /mL) 0 0 0 0 0

N W (MPN/100mL) 0 0 0 0 0

il fird [ fie = %= (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
HBMEEZEKOHEWEBREE R (mg/L) 1.2 0.97 0.73 0.67 0.67

7 v # K N E O AW (mg/L) <0. 08 <0. 08 <0. 08 <0. 08 <0. 08
TILI=T AR DREONEW (mg/L) 0.15 0.16 0. 09 0.12 0. 10

% Kk O = o I A& W (mg/L) <0.01 <0. 01 <0. 01 0. 01 <0. 01
~ v H kRN EOWE D (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i 1k L) 4 7+ N (mg/L) 9.1 8.5 8.1 8.6 8.6

IV UL, TRy LEGEE) (mg/L) 64 60 59 63 64

B (& A ¥R FE (T0C) © &) (mg/L) 0.6 0.6 0.7 0.7 0.6

p H & 7.4 7.4 7.0 7.3 7.1

5= = HEhL EEARL ORBREARL ORBERL HEAhL

&) B (B) 0.5 0.7 0.5 <0.5 <0.5
) B () <0. 1 <0. 1 0.1 0. 1 <0. 1
V53 B H e (mg/L) 0.2 0.3 0.2 0.4 0.4

B X W E (T O N ) <1 <1 <1 <1 <1
s & g = gt ({8 /mL) 12 2 2 0 0

x 115 (MPN/100mL) 0 0 0 0 0

firt 3 A 7 N (mg/L) 21 16 17 21 22

7 I bl ) JE (mg/L) 45 47 42 45 47

oA 2 5 i B (mS/m) 17.3 15.9 15.6 16.8 17. 1
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H28.9.5 H28.10.3 H28.11.7 H28.12.5 H29.1.10 H29.2.6  H29.3.7 [N &/ D)

i 5] = i} i i = — —
28. 1 23.4 11.2 11.3 3.0 6.6 6.0 29. 6 3.0 7.1
23.8 21.0 16.0 13.8 9.3 9.3 10. 2 26.3 9.3 3
0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
0.95 1.1 1.3 1.2 1.1 1.1 0.94 1.3 0.67 0.99
<0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08
0.07 0. 10 0.12 0.15 0.13 0.17 0.13 0.17 0.07 0.12
0. 01 0. 01 <0.01 0. 01 0. 01 0. 01 <0.01 0. 01 0. 01 0. 01
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 0. 005 0. 005 0. 005 <0. 005 <0. 005
7.8 7.1 8.5 8.4 8.8 8.8 8.2 9.1 7.1 8.4
52 52 68 70 60 68 63 70 52 62
0.7 0.5 0.6 0.6 0.7 0.7 0.6 0.7 0.5 0.6
7.2 7.0 7.2 7.4 7.4 7.4 7.1 7.4 7.0 7.2
BEaL  BEZL ORWRL ORERL HELL BEERL O RBESRL — LHR L
0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.7 0.5 0.5
0.2 0.1 0.1 0. 1 0.2 0.2 0. 1 0.2 0.1 0.1
0.4 0.4 0.2 0.2 0.2 0.2 0.2 0.4 0.2 0.3
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1

0 1 5 6 26 140 2 140 0 16

0 0 0 0 0 0 0 0 0 0

17 19 22 23 20 21 20 23 16 20

35 37 46 47 41 47 43 47 35 44
14.0 14. 8 17.7 17.9 16.0 17.7 16.3 17.9 14.0 16. 4
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2 KiESER DO KERA
(1) Z)IHKS
(2) BT K O E A

@ % 3 R GILREOK (BRI R)

£ 7K A A H H28.4.4 = H28.5.9 H28.6.6  H28.7.4  H28.8.1

PN 6= i & & i i}

& A (T 17.7 19.9 20.5 29.6 28.2

7K i (©) 13.2 18.8 19.9 26.7 25.7

— 5 A ({8 /mL) 0 0 0 0 0

N W (MPN/100mL) 0 0 0 0 0

il fird [ fie = %= (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
HBMEEZEKOHEWEBREE R (mg/L) 1.2 0.96 0.73 0.65 0.67

7 v # K N E O AW (mg/L) <0. 08 <0. 08 <0. 08 <0. 08 <0. 08
TILI=T AKEONEONAES W (mg/L) 0.14 0.14 0.15 0.15 0.12

B kK O FE o A B (mg/L) 0. 01 0. 01 0. 01 0. 01 0. 01
~ v H kRN EOWE D (mg/L) <0. 005 0. 007 0. 008 0. 005 0. 006

i 1k L) 4 7+ N (mg/L) 9.0 8.1 8.0 8.0 8.3

IV UL, TRy LEGEE) (mg/L) 64 60 60 63 64

B (& A ¥R FE (T0C) © &) (mg/L) 0.5 0.6 0.8 0.8 0.7

p H i 7.4 7.4 7.4 7.5 7.6

5= = HEhL EEARL ORBREARL ORBERL HEAhL

&) B (B) 0.5 0.9 0.7 0.7 0.6

) B (BD) <0. 1 0.2 0.2 0.1 0.1
V53 B H e (mg/L) 0.4 0.8 0.6 0.8 0.8

B X W E (T O N ) <1 <1 <1 <1 <1
Tt B *x = gk ({iE /mL) 5 0 0 0 5

x 115 (MPN/100mL) 0 0 0 0 0

firt 3 A 7 N (mg/L) 21 19 15 20 22

7 I bl ) JE (mg/L) 44 43 42 46 46

oA 2 5 i B (mS/m) 17. 1 16.0 15.5 16.7 17. 1
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H28.11.7 H28.12.5 H29.1.10  H29.2.6  H29.3.7 [N &/ D)
= £ _ _
11.2 11.3 3.0 6.6 6.0 29. 6 3.0 7.1
15.3 13.7 9.5 9.2 0.0 26. 7 9.2 1

0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
1.3 1.3 1.2 1.2 0. 96 1.3 0.65 1.0
<0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08
0.21 0.18 0.12 0.15 0.13 0.21 0.12 0.15
0. 01 0. 01 0. 01 0. 01 <0.01 0.01 0. 01 0. 01
<0. 005 <0. 005 0. 005 <0. 005 0. 009 0. 009 <0. 005 <0. 005
8.7 8.6 8.6 9.1 8.3 9.1 6.5 8.2
69 70 62 67 63 70 52 62
0.6 0.5 .7 0.6 0.7 0.8 0.5 0.6
7.2 7.3 A 7.4 7.3 7.6 7.2 7.4
L HEARL L EEhRL EBESRL — LHR L
0.5 <0.5 0.5 0.5 0.5 0.9 0.5 0.5
0.2 0.1 0.2 0.2 0. 1 0.3 0.1 0.1
0.6 0.5 0.4 0.4 0.4 0.8 0.4 0.6
<1 <1 <1 <1 <1 <1 <1 <1
230 170 20 9 16 230 0 44
0 0 0 0 0 0 0 0

22 22 20 21 20 22 15 20
47 47 42 48 43 48 35 43
17.8 17.9 16.5 17.6 16.5 17.9 14.2 16.5
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2 KB DKE A

(1] ZJIHKE

(2) BMEZ K Ol R A

@ 55 2 ok Gk (BRRILIE, S A1 R)
£ 7K 4 A H H28.4.4  H28.5.9 H28.6.6  H28.7.4  H28.8.1
X f 0 g = I I
= A (T 17.7 19.9 20.5 29.6 28.2
7K i (©) 13.0 19.2 19.6 26.5 25.9
— 5 ] ({8 /mL) 0 0 0 0 0
N W (MPN/100mL) 0 0 0 0 0
H FRI vk OZFo0IAEYW (mg/L) — <0.0003 — — <0.0003
KO K Y F O b A B (mg/L) — <0.00005 — — <0.00005
L kN ZE O b AW (mg/L) — <0. 001 — — <0. 001
m ok ™ F o b A& W (mg/L) — <0. 001 — — <0. 001
E £ K O O b A& W (mg/L) — <0. 001 — — <0. 001
N ol 7 v A& b A& W (mg/L) — <0. 005 — — <0. 005
iy il fi% HE = # (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
T A A F o RO AL T (mg/L) — <0. 001 — — <0. 001
HBEEZE K OCEWEBRREZE R (mg/L) 1.2 0. 96 0.72 0. 67 0. 66
7 v F K O E O LAWY (mg/L) <0.08 0. 09 <0.08 0.08 <0.08
r v EF R O EF 0 AE WY (mg/L) — 0.01 — — 0. 02
] #H 1k K F# (mg/L) —  <0.0001 — —  <0.0001
1, 4- ¥ 7 % VA N (mg/L) — <0. 001 — — <0. 001
vA-L,2-Vv /7 muaxF L kR
Ko zx-1,2-Y 7 vuF L (mg/L) — <0.0002 — — <0.0002
Y7 = = A i N (mg/L) —  <0.0001 — —  <0.0001
> N5 / v mrR = F L v (mg/L) —  <0.0001 — — <0.0001
K'Yy Y m g =x F oL v (mg/L) — <0.0001 — — <0.0001
~ N + N (mg/L) —  <0.0001 — —  <0.0001
iy # Pt (mg/L) - <0. 06 — — 0. 06
7 = = W i (mg/L) — <0. 002 — — <0. 002
7 = = R L N (mg/L) — 0.0076 — — 0.010
% 7 = = K [ (mg/L) — 0. 005 — — 0. 006
Y 7 v ¥ 7 n ona XA K v (mg/L) — 0.0012 — — 0.0015
B F# ik (mg/L) — <0. 001 — — <0. 001
T Y Y (mg/L) — 0.013 — — 0.018
k ) 7 = =S (mg/L) — 0. 006 — — 0. 007
7 nm £ Y 7 v ona A H v (mg/L) — 0. 0043 — — 0. 0055
- = S A JL A (mg/L) —  <0.0001 — — <0.0001
A v A 7T L F v K (mg/L) — 0. 003 — — 0. 003
m é kX O 2 o b & ® (mg/L) — <0. 005 — — <0. 005
T2 AKX ZEDONLAEY (mg/L) 0.03 0. 05 0.03 0.04 0.03
% K O 2 o b A W (mg/L) 0. 01 <0.01 <0.01 <0.01 <0.01
O R N -/ (mg/L) — 0. 01 — — <0.01
T U T AR DTEONAEY (mg/L) — 8.0 — — 8.5
~ v H RO E O E W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
bicy 1t L) 4 7 N (mg/L) 9.0 8.6 8.4 8.6 8.6
HNT TN, TR N () (mg/L) 64 60 60 64 64
7K S 53 *E%J W (mg/L) — 111 — — 119
e 4 4 v K om & M A (mg/L) — <0.01 — — 0. 01
¥ - 7 2 3 N (mg/L)| 0.000002 0.000001 0.000001 0.000001 0.000002
2- A F )L A4 VR R F — L (mg/L)| <0.000001 0.000001 0.000002 0.000002 0.000002
F 4 F v K om EF M A (mg/L) — <0. 005 — — <0. 005
- - J — L 3 (mg/L) —  <0.0005 — —  <0.0005
H Y (42 F# K FE(T0C) © & (mg/L) 0.6 0.6 0.7 0.7 0.6
p H i 7.3 7.3 7.0 7.1 7.0
IS HeEhlL BELRL RBERL OBEARL BEALL
5 B BERL BEARL BEARL BEAeL BEhLL
&) B (F5) 0.5 <0.5 <0.5 0.5 0.5
) i3 () <0.1 <0.1 <0.1 <0.1 <0.1
V5 2 H = (mg/L) 0.6 0.7 0.8 0.8 0.8
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H28.9.5 H28.10.3 H28.11.7 H28.12.5 H29.1.10 H29.2.6  H29.3.7 [N &/ D)

5 5] = i} i i = — —
28. 1 23.4 11.2 11.3 3.0 6.6 6.0 29. 6 3.0 7.1
24.4 21.6 16.3 14.0 8.9 9.5 10. 3 26.5 8.9 4
0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0
—  <0.0003 <0. 0003 <0.0003  <0.0003  <0.0003
— — <0.00005 — — <0.00005 —| <0.00005 <0.00005 <0.00005

— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001

— — <0. 001 — <0. 001 — <0. 001 <0. 001 <0.001

— — <0. 001 — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
0.93 1.1 1.3 1.2 1.1 1.1 0.93 1.3 0.66 0. 99
0. 08 0. 08 0. 08 0. 08 0. 08 0. 08 0. 08 0.09 0. 08 0. 08
— — 0. 02 — 0. 02 — 0.02 0.01 0. 02

— —  <0.0001 — —  <0.0001 —| <0.0001  <0.0001  <0.0001

— — <0. 001 — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0.0002 — <0.0002 —|  <0.0002  <0.0002  <0.0002

— —  <0.0001 — —  <0.0001 —|  <0.0001  <0.0001  <0.0001

— —  <0.0001 — —  <0.0001 —| <0.0001  <0.0001  <0.0001

— —  <0.0001 —  <0.0001 —| <0.0001  <0.0001  <0.0001

— —  <0.0001 —  <0.0001 —|  <0.0001  <0.0001  <0.0001
— — 0. 06 — — 0. 06 — <0. 06 0. 06 0. 06
— — <0. 002 — — <0. 002 — <0. 002 <0. 002 <0. 002

— — 0.0028 — 0.0018 — 0.010 0.0018 0. 0056

— — <0. 002 — <0. 002 — 0. 006 <0. 002 0. 003

— — 0.0014 — — 0.0008 —| 0.0015 0. 0008 0.0012

— — <0.001 — — <0. 001 — <0.001 <0. 001 <0. 001

— — 0.0071 — 0.0044 — 0.018 0. 0044 0.011

— — <0. 002 — <0. 002 — 0. 007 <0. 002 0. 003

— —0.0029 —0.0017 —| 0.0055 0.0017 0. 0036

— —  <0.0001 — —  <0.0001 —| <0.0001  <0.0001  <0.0001
— — <0. 002 — — <0. 002 — 0. 003 <0. 002 <0. 002
— — <0. 005 — <0. 005 — <0. 005 <0. 005 <0. 005

0. 02 0.02 0.02 0.03 0.01 0. 02 0.01 0. 05 0.01 0.03
<0. 01 <0. 01 0. 01 0. 01 <0. 01 <0. 01 0. 01 0. 01 <0. 01 <0. 01
— — <0.01 — — <0.01 — <0.01 <0.01 <0.01

— — 8.3 — — 8.5 — 8.5 8.0 8.3
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7.8 7.2 8.6 8.4 8.9 8.8 8.1 9.0 7.2 8.4
51 51 69 71 60 68 62 71 51 62

— — 127 — 125 — 127 111 121

— — 0. 01 — 0. 01 — 0. 01 0. 01 0. 01
0.000001 = <0.000001 0.000002 0.000001 0.000002 0.000002 0.000002 [ 0.000002 <0.000001 0.000001
<0. 000001 <0. 000001 <0.000001 <0.000001 0.000001 0.000001 0.000001 | 0.000002 = <0.000001 <0.000001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005

— —  <0.0005 —  <0.0005 —| <0.0005  <0.0005  <0.0005

0.7 0.5 0.5 0.5 0.7 0.6 0.6 0.7 0.5 0.6
7.0 7.0 7.2 7.2 7.2 7.2 7.1 7.3 7.0 7.1
HBEmL  BEZL OBERL OBERL HERL EEARL REASRL — — HERL
Byl BEaL BEAeL BEAL BEELL BEELRL O BEARL Bl
0.5 0.5 0.5 <0.5 0.5 0.5 0.5 <0.5 0.5 0.5
0. 1 0. 1 0.1 0.1 0. 1 0. 1 0. 1 <0.1 0. 1 0. 1
0.8 0.7 0.6 0.6 0.7 0.6 0.6 0.8 0.6 0.7
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2 KiESER DO KERA
(1) Z)IHKS
(2) BT K O E A

@ o 2 ok igoK (BRFEE, Sl 5% )

£ 7K A A H H28.4.4 = H28.5.9 H28.6.6 H28.7.4  H28.8.1
T F TR YT O E W (mg/L) —  <0.0003 — —  <0.0003
72 B S O N /S W A 7] (mg/L) —  <0.0002 — —  <0.0002
=y Lk REFEDOIESW (mg/L) — <0. 001 — — <0. 001
,2- ¥ 7 m mn =T X v (mg/L) —  <0.0001 — —  <0.0001
N JL - N (mg/L) — <0.0001 — —  <0.0001
TENLVEEY (- F L~ F L) (mg/L) — <0. 001 — — <0.001
i i ES fi (mg/L) — 0. 06 — — <0. 06
s v nm 7 kv = F1U (mg/L) — 0. 001 — — 0. 002
Wwmoook 7 = 5 - (mg/L) — 0. 004 — — 0. 005
= IR ¥ — <0. 001 — — 0. 009
U3 Hife 74 it (mg/L) — 2.4 — — 1.8
LL,I- U 7 oo = X v (mg/L) —  <0.0001 — —  <0.0001
A F L —t- 7 F L= — 5 L (MIBE) (mg/L) —  <0.0001 — —  <0.0001
B O ® E (T O N ) <1 <1 <1 <1 <1
et (7 7 U 78 ) — -1.3 — — -1.5
1€ & E 7% HH (fi /mL) 0 0 0 0 0
L,L1I- ¥ 7 @ g x F L v (mg/L) —  <0.0001 — —  <0.0001
e = P i gl (MPN/100mL) — — — — —
£ Wb W B FEE K& (mg/L) — — — —
= 17 fiz =3 (mg/L) — — — — —
7 - v D4 =2 (MPN/L) - - - - -
T & P 3 il (MPN/L) 2 0 3 0 1
x iV B (MPN/100mL) 0 0 0 0 0
#E OfF ¢ E# P ER (MPN/100mL) — — — — —
7 v T = 7 g w# * (mg/L) — - — — —
ol JL 2 ¥4 A (mg/L) — 16 — — 17
< 7 S o 7 NN (mg/L) — 4.8 — — 5.0
I fi% A 7 N (mg/L) 21 17 17 21 22
kU »~Nwa X ¥ v Ak RE (mg/L) — — — — —
A 7 JL ol ) i (mg/L) 47 46 43 45 46
B = = 8 B (mS/m) 17.5 16. 1 15.9 16.9 17.2

-75-




H28.9.5 H28.10.3 H28.11.7 H28.12.5 H29.1.10 H29.2.6  H29.3.7 [N &/ D)
— —  <0.0003 — —  <0.0003 —| <0.0003  <0.0003  <0.0003
— — <0.0002 — —  <0.0002 —|  <0.0002  <0.0002  <0.0002
— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0.0001 — — <0.0001 —|  <0.0001  <0.0001  <0.0001
— —  <0.0001 — —  <0.0001 —| <0.0001  <0.0001  <0.0001
— — <0. 001 — — <0.001 — <0. 001 <0. 001 <0.001
— — 0. 06 — — <0. 06 — 0. 06 0. 06 <0. 06
— — <0. 001 — — <0. 001 — 0. 002 <0. 001 <0. 001
— — 0. 002 — — 0. 002 — 0. 005 0. 002 0. 003
— — <0. 001 — — <0. 001 — 0. 009 <0. 001 0. 002
— — 3.3 — — 2.0 — 3.3 1.8 2.4
— — <0.0001 — — <0.0001 —| <0.0001  <0.0001  <0.0001
— — <0.0001 — — <0.0001 —|  <0.0001  <0.0001  <0.0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— — -1.4 — — -1.5 — -1.3 -1.5 -1.4
0 0 0 0 0 0 0 0 0 0
— — <0.0001 — — <0.0001 —|  <0.0001  <0.0001  <0.0001
1 0 0 0 0 0 0 3 0 1
0 0 0 0 0 0 0 0 0 0
— 18 — 18 — 18 16 17
— — 5.6 — — 5.6 — 5.6 4.8 5.3
17 18 22 23 20 22 20 23 17 20
34 37 46 47 41 47 43 47 34 44
13.9 14.9 17.8 18.0 15.9 17.8 16. 2 18.0 13.9 16.5
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2 KGR DO KEHRAE
(1) KRG
(2) B R Ol E AL

@ 5 2 FokGgoK (BRLEE, SaE AR )

£ 7K i A H H28.5.9 @ H28.8.1 | H28.11.7  H29.2.6 K /8 S
L,3-v e m7° na’ v (DD (mg/L)| <0.0002] <0.0002| <0.0002 <0.0002| <0.0002 <0.0002  <0.0002
2,2-DPA(C &% 5 AR v ) (mg/L)| <0.0002 0.0003 = <0.0002 <0.0002[ 0.0003 | <0.0002 <0.0002
2,4-D (2, 4-PA) (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
EPN (mg/L)| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001
MCPA (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 D o 7 A (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 + 7 - — I (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 ~ 7 v > (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = = N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
7 3 b~ 7 2 (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 7 v =t — Jb (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 Y x ¥ F  F v (mg/L)] €0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
4 v 7 = ¥ & A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
A4 YV ZF v A o 7 (MIPC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
A4 Y 7 v F F T v (IPT) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
4 7 v AN v &/ A (IBP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
A4 v ¥ 2 7 7 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
= X 7 v H A F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
= ¥ 4 7 = » & Z (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
T 7 = v 7 o oy 7 A (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
TR YPTY = (= rm A —) (mg/L)| <0.00001] <0.00001 <0.00001| <0.00001| <0.00001 <0.00001| <0.00001
TURALT (R EY) (ng/L)| <€0.0001] <0.0001  <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
F F B ¥ s m A A& v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
F % v v 8 (A B 8 ) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
A U 2+ v E v (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
b =z VA ) 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
H 7 = v Ak m — Jb (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
By X Y L (NAO) (mg/L)|[ <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
/A R S = S S R (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
i JL Zi 7 7 > (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
X 2 7 5 2 v (ACN) (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ A v v (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 3 I =t v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
s v A 7 m oy 7 (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
/7 v ) = kv 7 = v (CNP) (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
s/ v F U R A (mg/L)]| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
7/ m w &% w = L (TPN) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
D 7 A v > (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v 7 ) & % (CYAP) (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
Y v = N (DCMU)  (mg/L)| <0.0001 <0.0001| <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
Y s m X = 5 (OBN) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 v A& Z  (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
ALK b (= FLF A A ) (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
D A %+ v JV (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
oo o\ R vy 7 F g (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
D ~ D N (CAT) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
vooA R F U (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
D A k - — F (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
v A b~ y ¥ (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
YA ¥~ L — b (mg/L)| <0.00001] <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
vl A 7 P J > (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
4 A N =4 v (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ 7 DX = JU (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
- % v 2 (mg/L)| <0.0001  <0.0001 <0.0001| <0.0001| <0.0001 <0.0001| <0.0001
5 *+ 4 VY Jb 7 (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
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2

JKIBE it 5% D /K B AR AL
(1] Z=NEKS
(2) PSR OV A

@ 5 2 FokGgoK (BRLEE, SaE AR )

£ 7K i A H H28.5.9 @ H28.8.1 | H28.11.7  H29.2.6 K /8 S

F F 7 7 * — bk A F U (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
F F X v H v F7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
F v 7 J v 7 (MBPMC) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
k ) v = =4 JL (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
kU 7 v v A& v (DEP) (mg/L)| <0.00005/ <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
kU ¥ 7 5 v — J (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
KUy 7 o Z U v (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
+ 7 = A 2 F (mg/L)[ <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
=4 ~ =t N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
5 Y X% v 7 = v (mg/L)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
I x— k(T L — k) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
vy ¥ 7 = v F F v (mg/L)]| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
v Uy 7 F H L 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
=4 = ¥ =1 > (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 A 7 = = /L (mg/L) [<0. 000005 <0. 000005|<0. 000005 <0. 000005]<0. 000005 <0. 000005 <0. 000005
7 = = b+ v F F » MEP) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = J 7 J1 v 7 (BPMC) (mg/L)| <0.0001 0.0001 <0.0001| <0.0001| 0.0001 <0.0001 <0.0001
7 = v F F v (PP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v F = — |k (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
7 = v 7 ¥ I F (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
7 va Z A F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 v Vi = — Jb (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 v 2 Rz A (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001| <0.0001 <0.0001
7 7 w7 = ¥V v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
4 JL 7 D s A (mg/L)|  <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
7 LV F 5 7 v — JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
vl =1 v 3 K > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
- = ¥ %+ D 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
7 v v a 5 Y — JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
ol = | v N F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001| <0.0001  <0.0001
7 v X Y — L (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 = S 7 7 F (mg/L)[ <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
~ J 2 Jb (mg/L)| <0.0002| <0.0002 <0.0002 <0.0002| <0.0002 <0.0002  <0.0002
~ N D Vi = v~ (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N v Y v v 7w v (mg/L)] <0.0001  <0.0001 <0.0001  <0.0001[ <0.0001 <0.0001  <0.0001
N v Y 7 = F v F (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ N v V' > (mg/L)| <0.0001| 0.0004 | <0.0001 <0.0001| 0.0004 | <0.0001| 0.0001
N v T 4 A2 Y v (mg/L)| <0.0001  <0.0001] <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
N v 75 J b 7 (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N7 F Y (N2 Y r) (mg/L)] <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
~N v 7 L & — b (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A A F 7 ¥  — b (mg/L)| €0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ 3 F F v (~ 5 YV ) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
A a7 v vy F  (MCPP) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A > N JL (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A v 7 * v Jb (mg/L)|[ <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
A F K F F v  (OMIP) (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A F L X 4 v v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A F I J Z2 F v B ¥ (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A b Jj 7 ¥ >~ (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A 7 = F ¥ v bk (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A A =i = Jb (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
£ D) s — k (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
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EPN %+ * v > (mg/L)| <0.00001| <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4 V% Y F 4 v A F YV (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
A4 YV 7 x vk A 4 F Y » (mg/L)]<0.000005 <0.000005 <0. 000005 <0.000005<0. 000005 <0. 000005 <0. 000005
= v F A2 N 7 = — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
CNP- 7 2 / & (mg/L) [<0. 000001|<0. 000001 | <0. 000001 <0. 000001[<0. 000001 <0. 000001 <0. 000001
7 v b ¥ U R X 4 F Y v (mg/L)]| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
2 A4 7 Y v A& F v v (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
Zx=brua F F A F Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP %X b A& F ¥ K (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 JL 7 > (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP %+ x v > (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP #+ &% ¥V » AL A % ¥ F (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP #+ % YV » % b & ¥ (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 F I & A F F YV v (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
7 o £ 7 F F F 7 v % (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
~ 7 F F v F X Vv v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
7 v ¥ 2 7 F (mg/L)[ <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
4 I % - v 7 U F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
F 7 o F Y — )L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
=4 = v =1 N A (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001| <0.0001 <0.0001
7 v A2 7 7 2 F (mg/L)| <0.00001| <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 = < D JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
~ v F F HY v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
gz Vs = v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 5 7 v — b (mg/L)| <0.0001] <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
T RNV T -8 A F L (mg/L)| <0.0001  <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
7 A k ) > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A4 F X T 4 F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001| <0.0001  <0.0001
4 ~ Y Z A 7 v r (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
v = @ F ¥ — P (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
= b ¥ ¥ A 7 v ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001  <0.0001
= b N v ¥ =  F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F X% ¥ ¥ 7 X U (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
%+ * va 2 JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
¥ ¥ o &k v 7 = F L (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
s wm  F 7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 v < 7 = /J ¥ F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
J )L F — )b ¥ A F L (TCTP) (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 v b B U &K A A F b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
Y a7 = v F A& v~ (BCP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
P4 Vi = A P v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 v g 7 v vy 7 (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y A2 ) 7 wm v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 J T 7 7 v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y 7 = J =@ F Y — L (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 L X v X wm v (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001| <0.0001
v 7 v 2o F YV — L (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D4 A = ¥ = JL (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
¥ A a5 v — L (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y A F L ¥ v kA (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 5 7 g F 7 = v (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D v A ¥ P v (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F F 7 a F (mg/L)[ <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
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F T A % ¥ A (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
F 4 JL va 2 F (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
T kb7 7 L R A (CWP) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
F ~ 7 o F Y — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
> 7 7 = 7 ¥ F (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 <0.0001
U %% % %y 7 = F L (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
kU 7 I v — b (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> F v 7 = F (mg/L)[ <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
= a N = v 2 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
Ny owa 7k F Y — Jb (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
=4 A k = DX > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
S Y27 u v F ) (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
U I RNy 7 X F ) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
oY 2 & AR A F gL (mg/L)| <0.0001 <0.0001 <€0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 7 A L = JL (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 v 7 Y & v (mg/L)| <0.0001] <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 v % = b (DCPA) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 = % D 2 (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
7 wm % L ¥ v | (BPPS) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
7 v AR X A JL  (PHO) (mg/L)[ <0.0001 <0.0001| <0.0001 <0.0001] <0.0001| <0.0001  <0.0001
vl =1 A b ) > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N v X A & v T (mg/L)| €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
) ¥ D4 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001| <0.00001 <0.00001
i 2 by ) F (mg/L)[ <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
£/ 7 g P A % (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
Jj = o = > (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 Y % ¥ Z2 b B F v (ng/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
A 7 = DX %+ > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
v = = ES 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
v a o =1 > (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F = N 7 v — Jb (mg/L)| <£0.0001 <0.0001 <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
kv 7 v &K X % F b (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N|m A gL 7 1 v A F b (mg/L)| <0.0001  <0.0001] <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
v 7 =/ v 7 Z (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
Y 7 m ¥ ¥ 7 = v (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 5 ¥ zx g 7 v v (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 JV k 7 = JL (mg/L)[ <0.0001  0.0002| <0.0001 <0.0001| 0.0002 | <0.0001 <0.0001
~N 2 ) K (SAP) (mg/L)| <0.0001| <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N v AL 7 m v A F b (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Rz * ¥ JL (mg/L)| <0.0002| <0.0002 <0.0002 <0.0002| <0.0002 <0.0002  <0.0002
bV Z o R A RAF I F XY (mg/L)| <0.0001] <0.0001 <0.0001  <0.0001| <0.0001| <0.0001 <0.0001
A % ¥ Y 7 v (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001| <0.0001| <0.0001  <0.0001
s o A b X ¥ = J (mg/L)] <0.0001] <0.0001 <0.0001 <0.0001| <0.0001] <0.0001 _<0.0001
FYZuabEr-2-7 bF=F 0 (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001| <0.0001 <0.0001
= F m 7 = v (NIP) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A = A P v~ (mg/L)| <0.0001| <0.0001| <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
- 4 b E UV F — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
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2 KB DKERAE
(1) #)IFKS
(2) YL R O E A

© 5 3 Hk AR (BURGLE, S0l 5 i %)

£ 7K A A H H28.4.4  H28.5.9 H28.6.6  H28.7.4  H28.8.1
BN & 55} & 2 5] 5]
! fizh (C) 17.7 19.9 20.5 29.6 28. 2
K IR () 12.9 8.3 19.5 26. 4 25.6
— like il (f8 /mL) 0 0 0 0 0
X i} (MPN/100mL) 0 0 0 0 0
HRITAEEOZEDOIREY (mg/L) —  <0.0003 — —  <0.0003
KB K X 2 o b & WY (mg/L) —  <0.00005 — —  <0.00005
t v v kO FE 0 E W (mg/L) — <0. 001 — — <0. 001
m kK T o ik A& W (mg/L) — <0. 001 — — <0. 001
E # kK X F 0o b A W (mg/L) — <0. 001 — — <0. 001
N 7 v A b & W (mg/L) — <0. 005 — — <0. 005
il il i e %= % (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
ST oM A A RO T v (mg/L) — <0. 001 — — <0. 001
A RE 2 B K OV AY EE R E R (mg/L) 1.2 0. 96 0.73 0. 66 0. 66
7 v F Kk O ZE 0O b AW (mg/L) <0.08 0. 08 <0. 08 0.08 <0.08
U F K YT O/ AW (mg/L) — 0.01 — — 0. 02
] # 1t I°4 =3 (mg/L) — <0.0001 — — <0.0001
1,4- ¥ 7 ¥ VA v (mg/L) — <0. 001 — — <0. 001
vA-1,2-V /7 muxF Ly KR
NS R-L,2-Y 7 muxF L (mg/L) —  <0.0002 — —  <0.0002
DA = = z v (mg/L) —  <0.0001 — — <0.0001
> F % / v ow x F L v (mg/L) — <0.0001 — — <0.0001
kY ¥ mom = F L v (mg/L) —  <0.0001 — —  <0.0001
~ N + N (mg/L) — <0.0001 — — <0.0001
iy =3 173 (mg/L) — <0. 06 — — <0. 06
7 = = e 1 (mg/L) — <0. 002 — — <0. 002
v = = AN L U (mg/L) — 0.0041 — — 0.0039
v 4 = = W it (mg/L) — 0. 004 — — 0. 004
Y 7 v ¥ 7 0o oua A K v (mg/L) — 0.0008 — — 0.0009
B F i (mg/L) — <0. 001 — — <0. 001
woor U N m A H (mg/L) —  0.0075 — —  0.0074
k ] V4 = =I (mg/L) — 0. 004 — — 0. 005
7w ® ¥ rZ wmoua A K (mg/L) — 0.0026 — — 0.0027
- = £ gz I N (mg/L) —  <0.0001 — — <0.0001
A v A 7T A F B R (mg/L) — <0. 002 — — 0. 002
o &K N F o b AW (mg/L) — <0. 005 — — <0. 005
TNANI=2ULAKEOZEONEY (mg/L) 0. 02 0.03 0.04 0.05 0.04
% X O F o b A& W (mg/L) <0.01 <0. 01 <0.01 <0. 01 <0. 01
il K X % o b A& W (mg/L) — <0. 01 — — <0.01
FTrIYV VAR OZEONLEDY (mg/L) — 7.8 — — 8.2
~ v H RO E oA Y (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
picy 1k L7 4 %+ N (mg/L) 9.0 8.1 8.0 8.1 8.6
VIS SR NS C T ) (mg/L) 64 60 59 63 64
7 i 7% ) W (mg/L) — 113 — — 118
e 4 F v B om owm M A (mg/L) — <0.01 — — <0. 01
v - 7 s N NG (mg/L)| 0.000002 0.000001 0.000002 0.000001 0.000002
- A F L A4 YV AKRLXF — L (mg/L) | <0.000001 0.000002 0.000002 0.000002 0.000003
¥ A4 A v B om Em A (mg/L) — <0. 005 — — <0. 005
7 - J — JL | (mg/L) —  <0.0005 — —  <0.0005
A (& A IR FE (T0C) © &) (mg/L) 0.5 0.5 0.7 0.7 0.6
p H i 7.2 7.2 7.2 7.2 7.1
IS EVRAN Bl Bl BERL OBEALL
R X Bl BERL O RELRL AEERL BEARL
[ E (FE) <0.5 0.5 <0.5 <0.5 <0.5
e i3 () <0.1 0.1 0.1 0.1 <0.1
¥ 2 i # (mg/L) 0.6 0.8 0.8 0.8 0.8
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128.9.5 H28.10.3 H28.11.7 H28.12.5 H29.1.10 H29.2.6 = H29.3.7 [FoN &/ Sy
5] 5] 2 5] i i & — — —
28. 1 23. 4 11.2 11.3 3.0 6. 6 6.0 29. 6 3.0 1
22.5 20. 4 15.9 14.0 9.2 9.3 10. 0 26. 4 9.2 0

0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0
— <0. 0003 <0. 0003 <0.0003  <0.0003  <0.0003
— — <0.00005 — — <0.00005 —| <0.00005 <0.00005 <0.00005

— — <0. 001 — — <0. 001 — <0.001 <0. 001 <0. 001

— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001

— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
— <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
0.97 1.2 1.3 1.2 1.1 1.2 0. 94 1.3 0. 66 1.0
<0. 08 <0. 08 <0.08 <0. 08 <0. 08 <0. 08 <0.08 0.08 <0. 08 <0. 08
— 0. 02 0. 02 — 0. 02 0.01 0. 02

— — <0.0001 — — <0.0001 —|  <0.0001  <0.0001  <0.0001

— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001
— —  <0.0002 — —  <0.0002 —|  <0.0002  <0.0002  <0.0002

— — <0.0001 — —  <0.0001 —|  <0.0001  <0.0001  <0.0001

— — <0.0001 — —  <0.0001 —|  <0.0001  <0.0001  <0.0001

— —  <0.0001 — —  <0.0001 —|  <0.0001  <0.0001  <0.0001

— —  <0.0001 — — <0.0001 —|  <0.0001  <0.0001  <0.0001
— — <0. 06 — — <0. 06 — <0. 06 <0. 06 <0. 06
— — <0. 002 — — <0. 002 — <0. 002 <0. 002 <0. 002

— — 0.0020 — — 0.0012 —|  0.0041 0.0012 0. 0028

— — <0. 002 — — <0. 002 — 0. 004 <0. 002 0. 002

— — 0.0009 — — 0.0005 —| 0.0009 0. 0005 0. 0008

— — <0. 001 — — <0. 001 — <0. 001 <0. 001 <0. 001

— — 0.0049 — — 0.0029 —| 0.0075 0. 0029 0. 0057

— — <0. 002 — — <0. 002 — 0. 005 <0. 002 0. 002

— — 0.0020 — — 0.0012 —| 0.0027 0.0012 0. 0021

— —  <0.0001 — —  <0.0001 —|  <0.0001  <0.0001  <0.0001
— — <0. 002 — — <0. 002 — 0. 002 <0. 002 <0. 002
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
0.03 0.02 0.02 0.03 0.02 0.02 0.01 0.05 0.01 0.03
<0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
— — <0.01 — — <0.01 — <0.01 <0.01 <0.01

— — 8.1 — — 8.3 — 8.3 7.8 8.1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7.5 6.7 8.9 8.7 8.8 9.4 8.2 9.4 6.7 8.3
52 52 68 70 62 68 63 70 52 62

— — 125 — — 126 — 126 113 121

— — <0.01 — — <0. 01 — <0.01 <0.01 <0. 01
0.000002  0.000001 = 0.000002 0.000001 0.000002 0.000002 0.000002 | 0.000002  0.000001 0.000002
<0.000001 <0.000001 <0.000001 <0.000001 0.000001 0.000001 0.000001 | 0.000003 = <0.000001 0.000001
— — <0. 005 — — <0. 005 — <0. 005 <0. 005 <0. 005
— —  <0.0005 — —  <0.0005 —|  <0.0005  <0.0005  <0.0005

0.6 0.5 0.5 0.5 0.6 0.6 0.5 0.7 0.5 0.6
7.0 7.0 7.2 7.2 7.2 7.3 7.2 7.3 7.0 7.2
Hule L BERL ORELL EEALL BEAL2L ORELL BEALL — — BEL
Byl BEZRL O ORERL EERL O BELRL OEERL EEARL Bl L
<0.5 0.5 <0.5 <0.5 <0.5 0.5 0.5 <0.5 <0.5 0.5
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1
0.8 0.6 0.6 0.6 0.6 0.6 0.6 0.8 0.6 0.7
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2 KB DKERAE
(1) #)IFKS
(2) YL R O E A

© 5 3 Hk AR (BURGLE, S0l 5 i %)

£ 7K A A H H28.4.4 = H28.5.9 H28.6.6  H28.7.4  H28.8.1
Ty FE UV EVOZOED (mg/L) —  <0.0003 — —  <0.0003
v 7 v kY E 0k AW (mg/L) —  <0.0002 — —  <0.0002
= v F L EREOINA DY (mg/L) — <0. 001 — — <0. 001
,2- ¥ / w w = X v (mg/L) — <0. 0001 — — <0. 0001
k JL T N (mg/L) — <0. 0001 — — <0. 0001
TANLEY (- FL~F ) (mg/L) — <0. 001 — — <0. 001
[l bicy % fi (mg/L) — <0. 06 — — 0. 06
Y s m w7t h=hFU (mg/L) — <0.001 — — 0. 001
woooxk 7 =] 5 — (mg/L) — 0. 002 — — 0. 004
B PS ¥H — <0. 001 — — 0.010
U2 i 7 iz (mg/L) — 3.2 — — 0.6
L1L,I- NV 7 m oo = X v (mg/L) — <0.0001 — —  <0.0001
A F -t-7 F = —F )L (MIBE) (mg/L) — <0.0001 — — <0.0001
B &S 8 E (T O N ) <1 <1 <1 <1 <1
BaE (7 7 U 7 4R %) — -1.5 — — -1.4
i3 & * & G| ({8 /mL) 0 0 0 0 0
LI- ¥ 7 v o x F L v (mg/L) — <0.0001 — — <0.0001
e B P i il (MPN/100mL) — — — — —
AW b ¥ B B E B R & (mg/L) — — — — —
b 17 [ F# (mg/L) — — — —
% U v B [ (MPN/L) - - - - -
it & k3 3 il (MPN/L) 0 0 3 1 2
x ¥ #E (MPN/100mL) 0 0 0 0 0
OO M B $H Bk (MPN/100mL) — — — — —
7 v E = 7 & B # (mg/L) — — — — -
il L D2 % N (mg/L) — 16 — — 17
< 7 S g % N (mg/L) — 4.8 — — 5.0
it 3 A % N (mg/L) 22 20 16 21 22
kU N m X & Ak R (mg/L) — — — — —
i 7 L 7 ] E (mg/L) 43 42 42 45 46
£ = = H 23 (mnS/m) 17.1 16.0 15.5 16.7 17.1

-83-




H28.9.5  H28.10.3 H28.11.7 H28.12.5 H29.1.10 H29.2.6 H29.3.7 N /N ¥
— — <0. 0003 — — <0. 0003 — <0. 0003 <0. 0003 <0. 0003
- - <0. 0002 — - <0. 0002 — <0. 0002 <0. 0002 <0. 0002
- - <0. 001 - - <0. 001 - <0. 001 <0. 001 <0. 001
— — <0. 0001 — — <0. 0001 - <0. 0001 <0. 0001 <0. 0001
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
- - <0. 001 — - <0. 001 — <0. 001 <0. 001 <0. 001
- - <0. 06 - - <0. 06 - <0. 06 <0. 06 <0. 06
— — <0.001 — — <0. 001 - 0. 001 <0. 001 <0. 001
— — 0. 002 — — <0. 001 — 0. 004 <0. 001 0. 002
— — <0. 001 — — <0. 001 — 0.010 <0. 001 0. 003
- - 2.9 - - 1.6 - 3.2 0.6 2.1
— — <0. 0001 — — <0. 0001 - <0. 0001 <0. 0001 <0. 0001
- — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— — 1.4 — — —-1.4 — 1.4 -1.5 -1.4
0 3 2 30 0 16 0 30 0 4
— — <0. 0001 — — <0. 0001 — <0. 0001 <0. 0001 <0. 0001
0 0 0 0 1 0 0 3 0 1
0 0 0 0 0 0 0 0 0 0
- - 18 — - 18 — 18 16 17
- - 5.5 - - 5.6 - 5.6 4.8 5.2
17 19 22 24 21 22 21 24 16 21
35 38 46 46 42 47 43 47 35 43
14. 1 14. 8 17.8 18.0 16.3 17.6 16. 4 18.0 14. 1 16.5
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2 AKENER DO KERAE
(1) F=)IHKS
(2) B OB R A

® 5 3 EAKGEAK (ERWR L, S AiR)

£ 7k 4 A E H28.5.9 | H28.8.1 |H28.11.7] H29.2.6 [ FrK 5/ SEAy
L3 v > 7o w7 un A v (DD (mg/L)| <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002 <0.0002
2,2-DPAC % 5 & v ) (mg/)| <0.0002] 0.0002 | <0.0002| <0.0002| 0.0002 | <0.0002  <0.0002
2, 4-D (2, 4-PA) (mg/L)| <€0.0001  0.0001 | <0.0001 <0.0001| 0.0001 | <0.0001 <0.0001
EPN (mg/L)| <€0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
MCPA (mg/L) | €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 B a 5 A (mg/L)| <0.0001] <0.0001] <0.0001] <0.0001] <0.0001] <0.0001] <0.0001
7 + ~ = — F (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 k v v > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = n N 2 (mg/L)| <€0.00001] <0.00001| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001
7 3 K 7 2 (mg/L)| €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 5 s :z — A (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001] <0.0001
4 Y % ¥ F  F > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
4 v 7 = v &k % (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
4 Y ZF uw J A 7 (MIPO) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 v F w F F 5 v (IPD (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001  <0.0001 <0.0001
4 7 v N v K A (IBP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001] <0.0001
4 v F 7 7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
= 2 7 v H A 7 (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
T ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
T F 7 = v ZF w v Z Z (g/L)] <0.0001] <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
T hYYTY = (=7 u AV —n) (mg/L)]| <0.00001] <0.00001] <0.00001] <0.00001| <0.00001 <0.00001 <0.00001
T RAALT (R YT r) (mg/l)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F ¥ ¥ ¥ 2y v A & > (ng/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F % ¥ v W (A B M ) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
& VU #F 2 kv v v (mg/L] <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 =z + - 2 (mg/L)| €0.00001] <0.00001 <0.00001] <0.00001] <0.00001 <0.00001 <0.00001
B 7 = v A bk om — J (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 LR Y L (NAC) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
#or 7 om0 3 K (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 L R - 5 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ /7 5 3 » (AN (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ 7 % > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Vi N L = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 m A 7 w v F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
sy v v = bk v 7 = v (CNP) (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
s/ w4 v U K 2 (mg/L)| €0.00001] <0.00001 <0.00001] <0.00001] <0.00001 <0.00001 <0.00001
s/ m wm % uw = A  (IPN) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 7 + o > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
D 7 J k= (CYAP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v v o v (DOMD)  (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
Y r m o~ = 5 OBV (mg/L)| <0.0001] <0.0001 <0.0001] <0.0001] <0.0001 <0.0001  <0.0001
Y s a A K % (ODVP) (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
ALK Ry (ZmFAFF A b ) (mg/L)| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
o 7 + 5 L (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
v N v &k v F 7 F A (mg/L)] €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
> - 5 v (CAT) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
T Y K U v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
v 2 K B — F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
D 2 r ] > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
YA ¥ ¢ L — b (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
5 A 7 v ) > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
5 ~ X = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Fa 7 v = L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Fa v = A (ng/L)| <€0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
- 7+ B2 7 L 7 (mg/L)| <€0.0001 <€0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
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2

KB DB

(1) 21K

(2) PR O A

® 5 3 EAKGEAK (ERWR L, S AiR)

£ 7k 4 A E H28.5.9 | H28.8.1 |H28.11.7] H29.2.6 [ FHrK 5/ Ay

F 4 7 7 X — bk A F Jb (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001] <0.0001] <0.0001
F 4+ N v F 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
= A 7 H A 7 (MBPMCO) (mg/L)| <0.0001 <0.0001| <0.0001 <0.0001| <0.0001| <0.0001| <0.0001
K Y s o = U (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
kU 7 w A & v  (OEP) (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
KU 2 5 Yy — (mg/L)| <0.0001 <€0.0001] <0.0001] <0.0001| <0.0001] <0.0001] <0.0001
KU 7 v 5 U v (mg/L)| <€0.0001  <€0.0001] <0.0001] <0.0001| <0.0001 <0.0001 <0.0001
F 7 = 2% 3 K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= ~ o N 2 (mg/L)| <€0.00001] <0.00001| <0.00001 <0.00001| <0.00001 <0.00001| <0.00001
¥ 5 Y ¥ v 7 = v (ng/L)] <0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
S5 YU %—bh (35 YL — k) (mg/L)]| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001] <0.0001
v U ¥ 7 = v F F  » (ng/l)] <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v U 7 F  H 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
= = ¥ r v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 4 -7 s = /U (mg/L) | <0. 000005 <0. 000005 <0. 000005 <0. 000005] <0. 000005| 0. 000005 <0. 000005
7 = = Kk v F #F > OEP) (mg/L)| <0.0001 <0.0001] <0.0001] <0.0001| <0.0001 <0.0001] <0.0001
7 = J 7 H A 7 B (mg/L)| <€0.0001 0.0001 | <0.0001 <0.0001| 0.0001 = <0.0001 <0.0001
7 = v F F v  (WPP) (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = ¥ L+ = — |+ (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v b 5 #F 2 F (mg/L] <0.0001 <€0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
~ DA < 4 R (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 5 Vi :z — U (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 b N i+ 2 (mg/L)| <€0.0001] <0.0001 <0.0001] <0.0001| <0.0001 <0.0001 <0.0001
7 7 w7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
- L 7 v + A (mg/L)|  €0.0001  <0.0001 <0.0001 <0.0001] <0.0001  <€0.0001  <0.0001
7 L F 5 s u  — J (mg/L)] <0.0001] <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 = v 2 D > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = 5 + * 2 (mg/L)| €0.00001] <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 wm ¥ a5 Y — 1 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 = 5 A N K (mg/L)| <€0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 o N F Y — L (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
7 = ES 7 Vi K (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
~ J N L (mg/L)|  <0.0002  <0.0002| <0.0002 <0.0002| <0.0002| <0.0002 <0.0002
~ v v Vi = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N v vy v v s am v g/ <0.0001]  <0.0001  <0.0001  <0.0001] <€0.0001  <0.0001  <0.0001
Ny Yy 7 = F v 7 (mg/L)] <0.00001] <0.00001] <0.00001] <0.00001| <0.00001 <0.00001 <0.00001
~ v 5 v > (mg/L)| <0.0001 0.0002  <0.0001 <0.0001| 0.0002  <0.0001 <0.0001
~ v T 4 2 2 ) v (mg/L)| <0.0001]  <0.0001  <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
~ v 75 B A 7 (mg/L)]| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Ny 7 A5 Y v (N Zua Y y) g/l <0.0001] <0.0001 <0.0001 <0.0001] <€0.0001  <0.0001  <0.0001
~ v 7 v & — K (mg/L] <0.0001] <0.0001] <0.0001] <0.0001] <0.0001 <0.0001  <0.0001
A %2 F 7 ¥ — b (mg/L)] €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ 3 F & v (~ 5 Y v ) (mg/l)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A = 7 a v 7 OCPP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
2 v 2 U (mg/L)|  <0.0001  <0.0001  <€0.0001  <0.0001] <0.0001  <0.0001 <0.0001
2 # = ¥ P L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A F K F F »  (OMP) (mg/L)| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A F A ¥ 4 A v v (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A b 2 J A h wuw v v (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
2 K ] 7 v v (mng/L)| <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
x 7 = F v F (mg/L)| <€0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
A 7 = = L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
£ ] * — F (mg/L)| <€0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
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® 5 3 EAKGEAK (ERWR L, S AiR)

£ 7k 4 A E H28.5.9 | H28.8.1 |H28.11.7] H29.2.6 | Kk 5/ Ay

EPN 7+ ¥ v v (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001] <0.00001
4 Y X F F & v A F Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
4 Y 7 = v K A 4 F Y > (mg/L)]<0.000005 <0.000005 <0.000005 <0.000005|<0.000005| <0. 000005 <0.000005
= v K A A 7 = — F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
CNP- 7 3 J £ (mg/L)[<0. 000001 <0.000001 <0.000001 <0.000001]<0. 000001 <0. 000001 <0. 000001
7 @ oL U K A A F 2/ » (mg/L)| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
¥ A4 7 Y J v F % Y v (mg/L)| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 x = ko F F v F F Y v (mg/L)| €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 4 R % 2 R (mg/L)| €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 L & » (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP *+ ¥ > > (ng/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP # % Y v % & F ¥ F (mg/L)| €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP F ¥ Y v Z A K v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 % I Kk A A4 F Y v (ng/L)| <0.0001 <€0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 o = 7 F F F 7 v % (g/L)] <0.0001 <0.0001  <€0.0001 <0.0001] <0.0001 <0.0001 <0.0001
~ 5 F F » F F ¥ o (g/L)| <0.0001] <0.0001] <0.0001 <0.0001] <0.0001 <0.0001] <0.0001
e K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 2 % s uw  ZF U F (mg/l)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F 7 3 F v — L (mg/L)] <0.0001  <0.0001  <€0.0001  <0.0001] <0.0001  <0.0001 <0.0001
= 5 s u - 2 (mg/L)| <€0.0001] <0.0001] <0.0001] <0.0001| <0.0001] <0.0001] <0.0001
7 4 2 A 7 7 3 F (mg/L)| €0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 = < > U (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
~ v K% ¥ Y (mg/L)| <0.0001]  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
* 4 o v (ng/L)| <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
2 K5 s . — L (mg/L)| <0.0001 <0.0001] <0.0001 <0.0001] <0.0001] <0.0001  <0.0001
7 v N v Y T -8 A F A (mg/L)| <0.0001 <€0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 A k Y > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 F N v T g K (mg/L)| <€0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 = v 2 A 7 w1 (mgL| <0.0001] <0.0001] <0.0001] <0.0001] <0.0001 <0.0001  <0.0001
= = 5 Y — P (mg/l)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
= F % ¥ % A 7 m » (mg/)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
- KN » = K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F % ¥ Y 7 A X (mg/L] <0.0001  <0.0001  <€0.0001  <0.0001] <0.0001  <0.0001  <0.0001
+ ¥ D 2 L (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ ¥ w ok v F = F A (mg/L)| <0.0001 <€0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
sy m F 7 = ¥ v (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7w o~ 7 = 7 ¥ F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 a v X — Y A F L (ICTP) (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 m A v U K A A F A (mg/L)| <€0.0001] <0.0001 <0.0001] <0.0001] <0.0001 <0.0001  <0.0001
Y s v 7 = v F F » (ECP) (mg/L)| €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
o Vi = A v > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
Y s m A 7 v v F (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> ) A v 7w v (mg/L)] <€0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
> J 7 i F > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 = ) = F Y — b (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 4 RN v X uw v (mg/L)| <€0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 7 wm = F Y — b (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 7 o 3 = U (mg/L)|  <0.0001  <0.0001 <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
> A = F Y — b (mg/L)| <€0.0001] <0.0001 <0.0001] <0.0001] <0.0001 <0.0001  <0.0001
Y A F A v » &k A (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> 5 7 A F 7 = v (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> v A Fa J > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 7 s a  F Y K (mg/L)| <€0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
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KB DB
(1) 2K
(2) BHLZF K OB R

® 5 3 EAKGEAK (ERWR L, S AiR)

£ 7k 4 A E H28.5.9 | H28.8.1 |H28.11.7] H29.2.6 | Kk 5/ Ay

F 7R R % 4 A (meg/L)| <€0.0001] <€0.0001] <0.0001] <0.0001| <0.0001 <0.0001] <0.0001
F — L e 3 K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F F 5 7 v B vk A (CWP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F F 5 =3 F Y — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001 <0.0001
F 7 7 = 7 ¥ _F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 _<0.0001 <0.0001
KU % % % % v 7 = F L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
KU 7 2 Y — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F 7 w7 = Y K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
= > v = 5 A (mg/L)| €0.0001 <0.0001] <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N7 v 7 h 5 v — 5 (mg/L)] <0.0001  <0.0001] <0.0001 <0.0001] <€0.0001 <€0.0001  <0.0001
= 2 K o B > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001] <0.0001
5 Y 2 4 7 u v x F o (ng/l)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
v U X RNy Z A F g (mg/l)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
¥ U 3 ok A A F s (mg/l)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
— > A K 5 U (mg/L)|  <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001 <0.0001
7 A 7 Y & v 7 (mg/L| <€0.0001] <€0.0001] <0.0001] <0.0001| <0.0001 <0.0001] <0.0001
7 w8 = a4 (DCPA) (mg/L)| <0.0001 <€0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 o 3 & 2 (mg/L)| €0.00001 <0.00001| <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 v % A X w b BPPS) (mg/L)| <0.0001 <€0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 o E ¥  Z A (PHO) (mg/L)| <0.0001  <€0.0001  <€0.0001  <0.0001] <0.0001 <0.0001  <0.0001
7 = A K J > (mng/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
N X A4k A 7 (mg/L)| €0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
* ¥ v A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
w 2 7 Y K (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
£/ 7 & F ok A (mg/L)] <€0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
Y = - o > (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 Y % ¥ A k m b ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
+ 7 = v + > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
i o o > 7 (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
v = = = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
s = A  Z m  —  J (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
KLz om ok A A F A (mg/L)| <€0.0001  <€0.0001  <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
N m A L 7 ou v A F o (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
v 7 = ) v 7 Z (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
¥ U 7 v * ¥ 7 = ¥ (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 5 ¥ x4 7 v v (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
~ L k 5 = U (mg/L)| <0.0001  0.0002 <0.0001 <0.0001| 0.0002  <0.0001 <0.0001
~ v = Y KR (SAP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001 <0.0001
N v A Vv 7 u v A F v g/ <0.0001]  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
* + 7 L (mg/L)|  <0.0002  <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002
ML Z sk A AF LA F Y L (ng/l)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
F ¥ ¥ ¥ 7 Y r (mg/l)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7w A b % v =  (mg/L)] <€0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
FU ZmEA-2-7 kF 2 F A (mg/L)| <0.0001] <0.0001 <0.0001 <0.0001] <0.0001 <0.0001 <0.0001
= + w©w 7 = ¥ (NIP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7 o /% o > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
- ¥ U %  — F (mg/L] <0.0001] <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
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2 KBk OKE A
(1) 281K
(3) AWmmd
@®© _JFK
par| Eiies A W T4 ks H H][ H28.4.4 | H28.5.9 | H28.6.6
Bac. | 1 Achnanthes spp. 134 334 174
2 Asterionella formosa 20 8 22
3 Aulacoseira distans 6 2
4 A granulata 22 36
5 A. spp. 32 36
6 Cyclotella spp. & Stephanodiscus spp. 354 548 280
7 Cymbella turgidula v. nipponica 4
8 C. ventricosa 10 14 16
9 C. Spp. 28 50 20
10 Diatoma vulgare 48 58 26
11 Fragilaria crotonensis
12 F. Spp. 322 1, 740 1, 740
13 Gomphonema parvulum 10 8
14 G. spp. 46 72 126
15 Melosira varians 140 290 170
16 Navicula cinctaeformis 14 30 12
17 N. gregaria 80 48 48
18 N. spp. 290 366 318
19 Nitzschia acicularis 18 2 4
20 N. dissipata 42 44 22
21 N. frustulum v. perpusilla 14 16 12
22 N. palea 32 40 64
23 N. Spp. 1,084 1,612 1, 006
24 Pinnularia spp. 2
25 Rhoicosphenia curvata 14 26 24
26 Skeletonema spp. 24 450 92
27 Surirella spp. 2 6
28 Synedra acus 2 2 2
29 S. ulna 6 14
30 S. ulna v. oxyrhynchus 10 6 2
31 S. spp. 2
32 Thalassiosira pseudonana 28 120 100
33 Ot D E RS 264 462 436
Chl. | 34 Carteria spp. & Chlamydomonas spp. 2 4 22
35 Dictyosphaerium spp.
36 Scenedesmus spp. 2 14 24
37 Z DD FRESH 156 961 6| 1841 8
Cya.| 38 Anabaena spp.
39 Aphanizomenon spp.
40 Microcystis spp.
41 Phormidium spp. 2
42 T OO BE R 4 12 2
Fla. | 43 Cryptomonas spp. 42 8 12
44 Dinobryon spp. 6 4
45 Peridinium spp. 2
46 Uroglena spp.
47 Z DA D HE R 120 18 20
Pro. | 48 HkE B 4
49 RSyt | 22 8 14
50 Z DD AT 10 10 26
Oth. | 51 Z DD EY) 4
52 Tot. #/EWE 3,412]  8]6,562] 20[5,088] 34
53 Bac. EE#EH 3,048 6, 406 4, 806
® 54| ch. g 158) 2| 100] 20 206 32
55 Cya. EmsH 6] 12 2
st | 56 Fla. #iEstn 170 26 36
57 Pro. JRAEEM 36 18 40
58 Oth. ZDfdEW 4

H1 AYBOLEMIEEEN LR oM, AR A R T,
ZOMOEE, InLH O K2R,
ZOMDEWIL, BWAEMEBITINZ TV,
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5| H28.7.4 H28.8. 1 H28.9.5 H28.10.3 | H28.11.7 | H28.12.5 | H29.1.10 H29.2.6 H29. 3.7
1 224 188 26 104 210 128 88 124 298
2 12 8 6 4 8 32 52 18
3 4 16 6
4 38 10 28 34 44 2 4
5 16 14 12 10 16 4 10
6 268 134 1, 068 902 1, 330 258 466 3,122 1,530
7 6 12 12
8 26 24 4 4 6 20
9 20 20 2 2 6 28 10 24 18
10 26 22 4 6 44 250 180 140
11 8 6 4
12 |3, 180 1,134 50 158 80 154 356 990
13 6 2 4 8 6 4 4
14 152 74 8 22 28 18 22 56 52
15 300 130 2 6 48 60 160 140 160
16 22 8 4 8 14 72 68 30
17 34 38 8 24 18 40 54 120 46
18 280 256 30 34 100 184 172 262 386
19 12 2 4 6 4 8 8
20 16 10 4 2 6 20 56 8
21 4 8 2 10 4 8 4 8 12
22 32 56 6 20 12 2 18 16 18
23 882 402 74 122 80 242 424 1,052 1, 280
24 2 2
25 16 12 4 6 4 4 8 20 14
26 54 14 92 200 52 8 14
27 2 8 2
28 4 2 4 4 2
29 26 14 4 10 4
30 4 4 6 14 6
31 2 2 2 2
32 80 82 300 150 160 72 28 130 66
33 404 368 74 214 190 194 148 196 302
34 12 6 22 2 22
35 24 2
36 36 8 2 2 6 10 4 4 10
37 198! 10 214 2 114 8 92: 12| 138: 24| 108 120 4 98 110 6
38 0.20 0.33 0.04
39 0. 38 0. 08
40 0.10 0.03 0.01 0.03 0.03
41 2 2 2
42 321 16 18 4 0.07 12. 16 4.03 4.01
43 56 2 2 50 42 4 2
44 2
45 8 2 2
46
47 30 4 6 146 52 34 90 46 30
48 2 8 2 4
49 4 10 8 36 16 8 28 8
50 2 2 6 2 16 6
51 2
52 16,4861 62[3,276: 30|1,908.20:16. 10{ 2, 2501 14. 03] 2, 792. 331 54. 46] 1, 572. 04} 22. 27| 2, 388112. 03| 6, 2581 8. 03| 5, 608120. 01
53 |6, 144 3, 052 1, 766 1, 930 2,514 1, 408 2, 166 6, 066 5,426
54 210, 46| 214 10| 120, 10| 114 14| 140, 54| 108 10| 120 8 98 6 132! 16
55 321 16 20| 0.2016.10 0.03[ 0.33:0.46] 0.04112.27 4.03 2.03 4.01
56 94 8 12 196 94 34 90 50 32
57 6 2 10 10 44 22 12 44 18
58 2
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2 KBk OKE A
(1) 281K
(3) AWk
5 2 AR ILIBOK (BRI IER)
par| Eiies A W T4 AEA A H28.4.4 | 1H28.5.9 | 128.6.6
Bac. | 1 Achnanthes spp. 131 14 10
2 Asterionella formosa 16 1
3 Aulacoseira distans
4 A granulata
5 A. spp.
6 Cyclotella spp. & Stephanodiscus spp. 5 3 2
7 Cymbella turgidula v. nipponica
8 C. ventricosa 1
9 C. Spp.
10 Diatoma vulgare 2 1
11 Fragilaria crotonensis
12 F. spp. 14 7 8
13 Gomphonema parvulum
14 G. spp. 1 1 2
15 Melosira varians 4
16 Navicula cinctaeformis 1
17 N. gregaria 1
18 N. Spp. 3 4
19 Nitzschia acicularis 1
20 N. dissipata 1 1
21 N. frustulum v. perpusilla
22 N. palea
23 N. spp. 16 8 10
24 Pinnularia spp.
25 Rhoicosphenia curvata 1
26 Skeletonema spp. 1
27 Surirella spp.
28 Synedra acus
29 S. ulna
30 S. ulna v. oxyrhynchus
31 S. spp.
32 Thalassiosira pseudonana 2
33 Z OO EERSE 26 17 12
Chl. | 34 Carteria spp. & Chlamydomonas spp.
35 Dictyosphaerium spp.
36 Scenedesmus spp.
37 Z DD FREE 12 11 2
Cya.| 38 Anabaena spp.
39 Aphanizomenon spp.
40 Microcystis spp.
41 Phormidium spp.
42 Z OO BERE 1
Fla. | 43 Cryptomonas spp.
44 Dinobryon spp.
45 Peridinium spp.
46 Uroglena spp.
47 Z D OB 1
Pro. | 48 WEE B E
49 HF R HfH
50 Z DDA 1
Oth. | 51 ZOMDOEY)
52 Tot. #AEWE 214 82 60
53 Bac. EEAUEH 201 71 56
® 51| cn. g 12 1 2
55 Cya. WEmJH 1
=4 56 Fla. ¥ 1
57 Pro. JRAEE 1

58 Oth. Foftho £y

1 A OEMITEE L oMo, AMIERAEEE =T,

ZFOMOAEYIE, InLROEERE =T,
ZOMOEMIT, BAEBHEIIINZ TW R0,
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2 KBk OKE A
(1) 281K
(3) AWk
% 3 VKR STRIEOK (AR R R)
par| Eiies A W T4 AEA A H28.4.4 | 128.5.9 | 128.6.6
Bac. | 1 Achnanthes spp. 13 473 75
2 Asterionella formosa 1
3 Aulacoseira distans
4 A granulata
5 A. spp. 1
6 Cyclotella spp. & Stephanodiscus spp. 19 28 13
7 Cymbella turgidula v. nipponica
8 C. ventricosa 4
9 C. Spp.
10 Diatoma vulgare 3
11 Fragilaria crotonensis
12 F. spp. 16 31 21
13 Gomphonema parvulum
14 G. Spp. 3 1
15 Melosira varians 2 14
16 Navicula cinctaeformis 2
17 N. gregaria 5 16 21
18 N. spp. 4 4 4
19 Nitzschia acicularis
20 N. dissipata 12 5
21 N. frustulum v. perpusilla 2 6
22 N. palea 1 2
23 N. spp. 30 77 18
24 Pinnularia spp.
25 Rhoicosphenia curvata 1
26 Skeletonema spp. 11 2
27 Surirella spp.
28 Synedra acus 2
29 S. ulna
30 S. ulna v. oxyrhynchus 1
31 S. spp. 1 2
32 Thalassiosira pseudonana 3 1
33 = DD B 19 930 218
Chl. | 34 Carteria spp. & Chlamydomonas spp. 2
35 Dictyosphaerium spp.
36 Scenedesmus spp. 1
37 Z DAt D fkEEE 18 16 25
Cya.| 38 Anabaena spp. 22
39 Aphanizomenon spp.
40 Microcystis spp.
41 Phormidium spp.
42 Z OO BERIE 7 3
Fla. | 43 Cryptomonas spp.
44 Dinobryon spp.
45 Peridinium spp.
46 Uroglena spp.
47 Z DA D ¥ ER 1 1
Pro. | 48 HkE B 2
49 =5 dUE 1
50 Z DDA 2 3
Oth. | 51 ZDOMDOEY
52 Tot. WRAEWE 160i 11,644 417
| 53 Bac.  H:MA 130 1, 600 388
54| ch 18] 1| 18 25
55 Cya. FEmH 7 22 3
= 56 Fla. #iE#Hs 1 1
57 Pro. B 5 3
58 Oth. ZDfdEW

L A OLEMITRBNnL T oMk, AEEE RS A R~
ZFOMOAEYIE, InLROEEE =T,
ZOMOEMIT, BAEHEIIIZ TR0,
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2 KBk OKE A
(1) 281K
(3) AWk
% 2 ARG K (B TE IR, SR SR )
par| Eiies A W T4 ks ] H28.4.4 | H28.5.9 | H28.6.6
Bac. | 1 Achnanthes spp. 0.25 0.11
2 Asterionella formosa 0.02
3 Aulacoseira distans
4 A granulata
5 A. spp.
6 Cyclotella spp. & Stephanodiscus spp. 0.10 0.01
7 Cymbella turgidula v. nipponica
8 C. ventricosa 0.01 0. 02
9 C. spp. 0.01 0. 04 0.01
10 Diatoma vulgare
11 Fragilaria crotonensis
12 F. spp. 0.05
13 Gomphonema parvulum
14 G. spp. 0.01
15 Melosira varians 0.01
16 Navicula cinctaeformis
17 N. gregaria 0.01
18 N. spp. 0. 05 0.10 0.03
19 Nitzschia acicularis 0.01
20 N. dissipata
21 N. frustulum v. perpusilla
22 N. palea
23 N. spp. 0. 04 0. 07 0.10
24 Pinnularia spp.
25 Rhoicosphenia curvata 0.01 0.01
26 Skeletonema spp.
27 Surirella spp.
28 Synedra acus
29 S. ulna
30 S. ulna v. oxyrhynchus
31 S. spp.
32 Thalassiosira pseudonana 0. 03
33 Z DI O EE R 0. 03 0.07
Chl. | 34 Carteria spp. & Chlamydomonas spp. 0.01
35 Dictyosphaerium spp.
36 Scenedesmus spp. 0.01 0.02 0.02
37 Z DD FRESH 0.81 0.19 0.65:0. 01
Cya.| 38 Anabaena spp.
39 Aphanizomenon spp.
40 Microcystis spp.
41 Phormidium spp. 0.01
42 Z OO BERIHE 0.02:0.01
Fla. | 43 Cryptomonas spp.
44 Dinobryon spp.
45 Peridinium spp.
46 Uroglena spp.
47 Z D OEFEEIE
Pro. | 48 WEE hE
49 RSyt |
50 Z DDA 0.01
Oth. [ 51 DDA 0.01 0.01
52 Tot. AWK 1.34:0.02] 0.72:0.03] 0.84:0.03
53 Bac. EE#EH 0. 50 0.53 0.18
% 54 Chl.  Hkiesa 0.81:0.01] 0.19i0.02[ 0.66:0.03
55 Cya. EimsH 0.02:0.01 0.01
§+ 56 Fla. ﬂﬁ%ﬁ%iﬁ
57 Pro. B 0.01
58 Oth. =Dty 0.01 0.01

L A OLEMITEBN LT oMaEk, AEEE RS A R~
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2 KBk OKE A
(1) 281K
(3) AWk
o 3 i ARG K  (EARRIEER, TR SR )
par| Eiies A W T4 ks ] H28.4.4 | H28.5.9 | H28.6.6
Bac. | 1 Achnanthes spp. 0.20 0. 16 0.12
2 Asterionella formosa
3 Aulacoseira distans 0. 06 0.01
4 A granulata
5 A. spp.
6 Cyclotella spp. & Stephanodiscus spp. 0.09 0.02 0.02
7 Cymbella turgidula v. nipponica
8 C. ventricosa 0.01
9 C. Spp.
10 Diatoma vulgare 0.02
11 Fragilaria crotonensis
12 F. spp.
13 Gomphonema parvulum
14 G. spp.
15 Melosira varians 0.02
16 Navicula cinctaeformis 0.01
17 N. gregaria 0. 02
18 N. spp. 0. 02 0.03 0.03
19 Nitzschia acicularis
20 N. dissipata 0.01
21 N. frustulum v. perpusilla
22 N. palea 0.02 0.09
23 N. spp. 0. 02 0. 02 0. 10
24 Pinnularia spp.
25 Rhoicosphenia curvata
26 Skeletonema spp.
27 Surirella spp.
28 Synedra acus
29 S. ulna
30 S. ulna v. oxyrhynchus 0.01
31 S. spp. 0.01
32 Thalassiosira pseudonana
33 Z DI DO EERIE 0.04 0.03 0.01
Chl. | 34 Carteria spp. & Chlamydomonas spp. 0.01
35 Dictyosphaerium spp. 0.01
36 Scenedesmus spp. 0.02 0.1
37 Z DD FRESH 0. 36 0.75:0.02| 2.28
Cya.| 38 Anabaena spp.
39 Aphanizomenon spp.
40 Microcystis spp.
41 Phormidium spp.
42 Z OO BERE 0.03 0.06:0. 01
Fla. | 43 Cryptomonas spp.
44 Dinobryon spp.
45 Peridinium spp.
46 Uroglena spp.
47 Z DR OEFERIE 0.01
Pro. | 48 WEE B E
49 RSyt |
50 Z DD AEEY
Oth. | 51 Z OMDOEY
52 Tot. AWK 0.8210.03[ 1.13:0.04f 2.72:0.17
53 Bac. EE#EH 0. 45 0.37 0.38
% 54 Chl.  Hkiesa 0.37 0.75:0.04| 2.28i0.1
55 Cya. WEmH 0.03 0.06: 0. 01
21 | 56 Fla. HiE#eta 0.01
57 Pro. JRAEEM
58 Oth. ZDfthad/EW

1 A OEMITEEN L oMok, AMERE SR =T,

ZFOMOEME, InLF OEEEE =T,
FOMDAEY L., BAEMEIIINZ TV,
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F5| H28.7.4 H28.8. 1 H28.9.5 | H28.10.3 | H28.11.7 | H28.12.5 [ H29.1.10 [ H29.2.6 H29.3.7
1 0. 28 0.14 0.02 0. 06 0. 07 0. 29 0. 31 0.17 0. 06
2
3
4
5
6 0.02 0.14 0.02 0.11 0. 65 0.14
7
8 0.01
9 | 0.01
10 0.01 0.01
11
12 0.01
13
14 0.01
15 0.02 0.02
16 0.03
17 0.01 0.01 0.03
18 | 0.08 0.02 0.02 0.04 0.03 0.04
19 0.01 0.01
20 0.01 0.01 0.02
21 0.01
22 1 0.05 0.02 0.01 0.01
23 1 0.05 0.01 0.01 0.01 0.04 0.17
24
25
26
27
28
29
30 0.01
31 0. 06 0.02
32 0.01 0.01 0.01 0.02
33 | 0.03 0.01 0.01 0.02 0.04 0. 05 0. 06
34 0.02 0.01
35 0.01
36 0.07 0.01 0.01 0.02 0.01 0.01
37 | 1.98:0.02] 0.51{0.01] 0.14:0.01] 0.19:0.04f 0.40:0.07[ 0.13{0.01] 0.56:0.02] 1.40 0.20
38
39 0.01 0.02
40 0. 02
41 0.02
42 | 0.18 0.03:0.01 0. 02 0. 07 0.01:1.18] 0.01
43
44
45
46
47 | 0.02 0.02 0.01
48 0.01 0.01
49
50 0.02 0.01
51 0. 02
52 | 2.68;0.10] 0.74i0.02] 0.20:0.01f 0.33{0.04| 0.78:0.09| 0.49:0.04| 1.27{1.24| 2.71{0.01] 0.48:0.01
53 1 0.50 0.20 0. 06 0.12 0.26 0. 36 0.65 1.28 0.27
54 | 1.98;0.10] 0.51:0.01| 0.14:0.01f 0.19;0.04| 0.42:0.08| 0.13:0.02| 0.57{0.04| 1.40;0.01] 0.20:0.01
55 1 0.18 0.03;0.01 0.02 0.07:0.01 0.02 0.03:1.20[ 0.01
56 | 0.02 0.02 0.01
57 0.01 0.02 0.01 0.01
58 0.02
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